























Required:

(a) Calculate for the year ended 31 December 2007, the value of:

e sales
*  purchases.
(6)
(b) Prepare for the year ended 31 December 2007:
* the trading account
* a calculation of the stock stolen
* the profit and loss account.
(6)

(c) Identify and explain which accounting concept has been broken by Rizan’s failure to maintain
a separate bank account for the business.

(2)
(d) Evaluate Rizan’s decision to not maintain a formal set of accounts.
2)

(Total 16 marks)

Answer space for question 4 is on pages 16 to 19 of the question paper.
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5.

SOURCE MATERIAL FOR USE WITH QUESTION 5§

Ahmed is in business operating a garage repairing cars for customers.
The following information is available:

(i) He rents the garage premises for £750 per month.
(11) Heat, light and power costs average £500 per quarter year.
(111) Licensing and sundry expenses cost £3 100 per annum.

(1iv) Equipment cost £15000 and has a life of 10 years, with no residual value.

(v) A bookkeeper is employed for 10 hours per week for 48 weeks per year at a rate of £5 per
hour.

(vi) Ahmed needs to earn £1 500 per month to meet his personal needs.
(vii)The garage is open for 50 hours per week for 48 weeks per year.

(viii)It is estimated that Ahmed spends 75% of his time undertaking repair work which will be
charged to customers.

(ix) When providing quotations to customers, Ahmed works on the basis of achieving a 25% profit
margin as the total cost of the job.
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SOURCE MATERIAL FOR USE WITH QUESTION 7

7. The following trial balance, which failed to agree, was prepared by the business of Jerome on
30 November 2007.

Debit Credit
£ £

Capital 5000
Debtors 8640

Creditors 6100
Stock 7900
Bank 850
Rent 1000
Fixtures and fittings 10000

Gross profit 9380
General expenses 4410
Wages 10740

Commission receivable 14960
Drawings 7400

50940 35440

The following errors were found in the books:
(1) Debtors includes the account of J. Williams, whose debt of £450 became a bad debt on
| August 2007. On 26 September 2007 a cheque was received in final settlement for £0.40 in

the £. No entries had been made in the accounts to record the bad debt or the cheque receipt.

(i1) Jerome paid rent of £500 per quarter year in advance, commencing on | January 2007. The
third quarter rent had been credited to both the rent and bank accounts.

(iii) Drawings by Jerome of £1 600 had been recorded in the wages account.
(1v) Commission receivable is received twice yearly. On 30 March 2007, £16 500 had been received
and correctly entered in the bank account, but no entry had been made in the commission

receivable account.

On 30 September 2007, a cheque for commission receivable had been received which had been
miscalculated in Jerome’s favour by £630. A cheque was drawn to refund the overpayment.
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